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Briefly describé the various non-discounting techniques

of capital budgeting decisions.
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“The wealth max-imization'is a preferred objecti{"e of

financial management.” Do you agree ? Give reasons. 8
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“Traditional financial management was concerned with both
raising of funds and optimum utilization of funds.” Do.you

agree ? Explain the scope of traditional approach. 7
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Mr. Rakesh borrows T 5 lacs at 15% rate of interest p.a..
This amount is to be returned in '10 ‘equal annual
instalments starting from the end of tﬁjrd Iyear. Find out

the amount of instalments. ' 8
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After tax cash flows associated with a project are as

follows :
Year Amount
0 ¥ 1,00,000
1 0
2 0
3 0

4 7 1,60,000

P.T.O.
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Find out internal rate of return of this project. Should it

"be accepted if cost of capital is 12% ? 8
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A machine costs Z 50,000. Its economic life is 5 years after

which its salvage value is ¥ 2,000. It is expected té‘ provide

_ annual profits after taxes of ¥ 15,000 ovér its life. Calculate

pay-back period and -acceptability of the machine if

standard péy-back period is 3 years. 7
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Bimal Ltd. has a proposal‘for a new machine cost of which

1s % 1,00,000. Installatiqn expenses is T 25,000. Economic
P.T.O.
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life of the project is 5 years after which salvage va{lue is
- 10,000. It is exp_ected to haye annual cash expenses of
% 20,000 and generate annual cash revenue of 501000.
Additional working capital of ¥ 15,000 is needed. Straight
line method‘of depreciation is allowed by the company.
Corporate tax rate is 35%. Cost of capital i; 10%. Find
out different cagh flows associated with this investment
proposal. Decide thie acceptability of this proposal on the

basis of NPV method. 15
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Two companies U Ltd. and L Ltd. have operating-earnings
of 20% on their total assets worth ¥ 40,00,000. U Ltd. hds
equity capitalization rate of 12% and tax rate applicable

to both is 35%. L Ltd. has erhployed 8% debt of ¥ 25,00,000.

_ Calculate the value and overall cost of capital of both the

firms as per net operating income approach. 8-'
& wofrt ' fafies &R o e = SRl
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"A company has sales of T 15 lacs and fixed costs of 2

lacs. Variable cost is 60%. It has 10% debt of ¥ 30 lécs.

Find out operating and financial leverage. Also find;out

' that if firm wants to double its EPS, how much % incréase

in EBIT. i"s needed ? Verify the results:
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Discuss how do the cost of equity and overall éost of

capital behave to increasing amount of debt in the capital

structure under t’raditionalvapproach to -capital

structurg. 8
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Explain how is capital structure affected by ghe factors-
nature of business, control and attitude. of management

towards risk. 7
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What is the impact of following nil diviaeﬁd per

share poiicy on the share price under Gordon’s lpodel and

why ? 7
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_ A company has only equity share capital and 12%

debentures in its capital structure. It has 2,00,000 equity

shares of face value of ¥ 10 but traded in the market at

- T25. Lést year it has paid dividend of'T 2 per share which
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- is expected to grow at 6%. It has 10,000 .debentufes of

face value of ¥ 100 which are traded in -the mark.ct‘at

Z 105. These are redeembable after 5 years at 10%

premium. Tax rate dppl‘icable fo the company is 35%. Find

out weighted average cost of_cépital on the basis of book -

value weights. 8
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-What is meant by cost of capital ? What are the assump-

tions made while éalculating the cost of capital ? 7
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Linu Ltd. has 1,00,000 shares outstanding, current market
p?ice isA? 25 per sharg. The company Bopes to make a
ﬁet inciom{e' of ¥ ;20,09,000 during the currenf y%:ar_. The
company is considering to pay a dividend of ¥ 3 per share.
This company belongs to a risk class of

capitalization rate of 10%. Assume that MM model of

Dividend applies. Find out price of the share at the end
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of the yeaf and wealth of a shareholder h”aviﬁg 100 shares
of .this company under the; following two circumstances :
| () dividend is paid

(i) dividend is ot paid. 8
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Explain the different approaches to the financing of

‘working capital. How do they involve the risk-return-

tradejoff ? 7
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A firm is anticibéting sales of 1,00,000 units next year. Sale
price will be ¥ 50 per unit. Raw material cosﬁ, labour cost
and overhead cost are eétimated to be 25%, 20% and 30%
rgspectively. Raw material remain in stock onjan average
for 2 weeks, work in progress for-1 week and finished goods

for 3 .weeks. Debtors are allowed 1 month credit while

- suppliers give 5 weeks credit. 50% of sales are on cash

basis. Prepare a statement showing funds to be‘arranged

for working capital requirements. 8
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Write- short notes on the following : 15
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Miller and Orr Model of Cash management
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() - Credit Policy

(¢ ABC analysis of inventory management.
frafafes ® dfew feooh fafan
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